BIT 265


Normal Binary Search Trees: Add
1. Add 5, 10, 1

2. Add 5, 10, 3, 1, 4, 7, 12
AVL Trees: Add
Do you need any restructuring?
1. Add 5, 10, 1

2. Add 5, 10, 3, 1,  7, 12, 6, 8, 11, 13

Single rotations:
3. Add 1, 5, 10

4. Add 10, 5, 1

5. Add 5, 10, 3, 1, 7, 12, 6, 8, 11, 13 (same as #2, above)
then add  0

6. Add 5, 10, 3, 1, 7, 12, 6, 8, 11, 13 (almost same as #2, above)
then add  14

7. Add 5, 10, 3, 1, 7, 12, 6, 8, 11, 13 (almost same as #2, above)
then add  5.5
Double Rotations:

8. Add 5, 10, 3, 1,  7, 12, 6, 8, 11, 13 (same as #2, above)
then add 1.5

9. Add 5, 10, 3, 1, 7, 12, 6, 8, 11, 13 (almost same as #2, above)
then add  7.5

10. Add 5, 10, 3, 1, 7, 12, 6, 8, 11, 13 (almost same as #2, above)
then add  12.5

Bigger example

11. Add 5, 10, 3, 1,  7, 12, 6, 8, 11, 13 (same as #2, above)
then add 14
